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Qui z:  Tr i gonomet r i c Wor d Pr obl ems 
 

1 

A 42 m l adder  l eans agai nst  a 
wal l .  The bot t om of  t he l adder  i s  
16 m f r om t he wal l .  What  angl e 
does t he l adder  make wi t h t he 
gr ound? 

8 

A k i t e i s 33 m above t he gr ound.  
The k i t e st r i ng makes an angl e of  
38°  wi t h t he gr ound.  Assumi ng t hat  
t he st r i ng i s  t aut ,  how much 
st r i ng i s out ? 

3 

A bal l ooni st  r ecor ds al t i t ude as 
1208 met er s,  t he angl e of  
depr essi on of  t he l andi ng spot  t o 
be 17° .  How f ar  i s  t he l andi ng 
spot  f r om a poi nt  on t he gr ound 
ver t i cal l y? 
  

10 

An 8 met er  l adder  makes an angl e 
of  62°  wi t h t he gr ound.  How f ar  i s 
t he bot t om of  t he l adder  f r om t he 
base of  t he bui l di ng? 

5 

 

 

What  i s f or mul a 
t o f i nd x? 

12 

 

 

Fi nd t he ar ea 
of  t r apezoi d? 

7 

 

ABCD i s a 
r ect angl e wi t h 
per i met er  
30. Fi nd t he 

measur e of  ∠B? 

14 

 

What  i s f or mul a 
t o f i nd x? 

9 

 

Fi nd x? 16 

 

Fi nd x? 
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